
 

 

Answer on Question #62164 – Math – Algebra  

Question 

if a bus is travelling at a speed of 66m/h....The bus has to go to Kolkata which is 720km far what will 

be the time taken....?BUT GIVE THE ANSWER IN Second..... 

 

Solution 

The relationship of speed, time and distance is given by 

𝑇𝑖𝑚𝑒 =
𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒

𝑆𝑝𝑒𝑒𝑑
 

If 66m/h means 66 miles per hour, then  

𝑡 =
720 𝑘𝑚

66
𝑚
ℎ

=
120

11

𝑘𝑚 ∙ ℎ

𝑚
= 

=
120

11

𝑘𝑚 ∙ 3600 𝑠𝑒𝑐

1.61 𝑘𝑚
≈ 24403 𝑠𝑒𝑐 

Note that 1 hour is equal to 3600 seconds; 1 mile is equal to 1.61 kilometer.  

There is a less realistic case if 66m/h means 66 meters per hour, then 

𝑡 =
720 𝑘𝑚

66
𝑚
ℎ

=
120

11

𝑘𝑚 ∙ ℎ

𝑚
= 

=
120

11
∙

1000𝑚 ∙ 3600 𝑠𝑒𝑐

𝑚
≈ 39272727 𝑠𝑒𝑐 

 

Answer:  24403 seconds. 
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